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! 100kN/MZH#BZ. % — -~ — —|3mEEZS -~ — — —[ 100kN/MZE#BZ % — -~ - —|[3mZBZ D -~ — — —
ThLst 1.00| 0.00 ~ 6.04 75.72 | #nkist | 000 ~ 6.04 | 1.89 9.57 zhLs 1.00 | 500 ~ 7.24 7572 | =4t | 5.00 ~ 7.24| 1.89 9.57
) 100kN/mM%#B % % — -~ — —[3mZEBZ S -~ — — —| 100kN/mi%#BZ.5 — -~ — —[3mZEBZ D -~ — — —
zh st 1.00| 000 ~ 7.74 99.37 | =nkist | 0.00 ~ 7.74| 2.47 1247 znLs 1.00| 500 ~ 11.79 99.37 | #h L4t | 5.00 ~ 11.79 | 2.47 12.47
3 100kN/m#z#%2%| 1.00| 000 ~ 0.31 104.54 |3mZE#BZ % -~ — - — | 100kN/m%#x 5| 1.00 [12.96 ~ 13.99 10454 |3mZEH#EZ5 — ~ - - —
znst 1.00] 031 ~ 8.09 100.00 | #h a5t | 000 ~ 8.09 | 256 12.93 Zzhus 1.00 | 500 ~ 12.96 100.00 | Zhkist | 5.00 ~ 13.99 | 2.56 12.93
4 100kN/m%#B % % 1.00| 000 ~ 240 137.59 |3mZ#EZ 5| 000 ~ 0.06 | 3.04 15.35 | 100kN/m#Z# x5 | 1.00 [11.78 ~ 2247 137.59 |3m%iB2x5|20.00 ~ 2247 | 3.04 15.35
zhLst 1.00| 240 ~ 10.19 100.00 | =1 A4t | 0.06 ~ 10.19 | 3.00 15.16 ThLs 1.00 | 500 ~ 11.78 100.00 | #hllst | 5.00 ~ 20.00 | 3.00 15.16
s 100kN/mi%#8x%| 100 000 ~ 1.86 128.70 |3m%i#BZ 3| 000 ~ 030 3.22 16.28 | 100kN/mi%i#8%% | 1.00 [13.55 ~ 22.65 128.70 |3Im%i#BZ %]20.00 ~ 22.65 | 3.22 16.28
ThLst 1.00| 1.86 ~ 9.65 100.00 | Zhuist | 030 ~ 9.65| 3.00 15.16 zhst 1.00 | 500 ~ 1355 100.00 | Zh st | 5.00 ~ 20.00 | 3.00 15.16
6 100kN/M%#B % % 1.00| 000 ~ 1.28 119.44 |3m%EZ5 -~ — — —| 100kN/mi%#8% 5| 1.00 [1548 ~ 2235 119.44 |3m%ZiBA D -~ — - —
Zzhsn 100 128 ~ 9.07 100.00 | a5t | 000 ~ 9.07 | 2.94 14.87 zhs 1.00 | 500 ~ 15.48 100.00 | Zhlist | 5.00 ~ 2235 | 2.94 14.87
; 100kN/m%#%%| 1.00| 000 ~ 1.01 115.25 |3m%EH#BZ 5 -~ - - —| 100kN/miZ#8%%| 1.00 ({1217 ~ 1566 115.25 |3m%EH#BZ 5 -~ = - -
ThLst 1.00| 1.01 ~ 880 100.00 | =1 A4t | 000 ~ 8.80| 2.49 12.60 zhList 1.00 | 500 ~ 1217 100.00 | =1 List | 5.00 ~ 15.66 | 2.49 12.60
8 100kN/mM%#B 2 % - -~ — —|3mZiBZ D -~ — — —| 100kN/mi#%#BZ.5 - -~ — —[3mZE#BZ D -~ - — -
zhLst 1.00 | 0.00 ~ 751 9595 | =n st | 000 ~ 751 2.62 13.22 zhLs 1.00| 500 ~ 12.86 9595 | =h st | 500 ~ 12.86 | 2.62 13.22
9 100kN/mMZ#BZ % - -~ - —|3mZi#EZz % -~ - — —| 100kN/m%# %% - -~ - —|3m%iEz 5 -~ = - -
zhs 100 | 000 ~ 462 5755 | #hbLlst | 000 ~ 4.62 | 1.87 9.45 zhs 1.00 | 500 ~ 5.00 5755 | #hLlst | 500 ~ 500 | 1.87 9.45
100kN/MZH#EZ % ~ 3mEHBRS ~ 100kN/mMZ#8 2% ~ ImEHEZD ~
Ths ~ zhus ~ zhus ~ zh st ~
100kN/M%Z#BZ % ~ 3mEBAS ~ 100kN/mM%#E% % ~ 3mEHEZD ~
FhLLSH ~ TnLst ~ TnLst ~ Zh st ~
100kN/MZH#BZ. % ~ 3ImEBRS ~ 100kN/m%Z#BZ % ~ ImEBZD ~
Zzhs ~ zhus ~ zns ~ ZzhLs ~
100kN/m%#B % % ~ ImEBAS ~ 100kN/mM##BZ % ~ ImEHEZD ~
Ths ~ zhus ~ Zznsn ~ Zzhsn ~
100kN/mMZH#B 2 % ~ 3mEBAS ~ 100kN/m#Z#E % % ~ 3mEHEZD ~
Zzhsn ~ zhs ~ Zzhs ~ ZhList ~
100kN/MZ#BZ. % ~ 3ImEHBRS ~ 100kN/mZ#8 2% ~ ImEBZD ~
Zhs ~ Zzhus ~ Zzhus ~ zhLs ~




